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1 Differential Jet Rate
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2 Graviton kinematics
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3 Jet PT
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4 Jet rapidity

4.1 Jet Rapidity: Production 1, jets with minimal PT of 20 Gev

>20T1 with PoRapidity of jet n
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4.2 Jet Rapidity: Production 1, jets with minimal PT of 50 Gev
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4.3 Jet Rapidity: Production 1, jets with minimal PT of 100 Gev
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5 Ht calculation

5.1 Ht calculation: Production 1, done with minimal PT of 20 Gev
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5.2 Ht calculation: Production 1, done with minimal PT of 50 Gev
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5.3 Ht calculation: Production 1, done with minimal PT of 100 Gev
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6 Missing ET
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